ERCLOBARY (FTM2EIA1BRE)

ITRURGH &
B 1| oD B s
X5 BIEORNE BB | Bt B B #AER
(N) | (%) | EZB&
14 | EERITEEFDOBTS 14N 10.9%|F=E 14 A
28k | EEXRIIHEDRES 17TAl 13.3%[x& 17N | 54N 42.2% | ZREHR
IR | EBHFRIIEEF DB 23N 18.0%[Ex# 23N
. = = WwEBtVA—E 1A
KBtV —E. HEFER. 0
A%k BE Y+ EAT ORI 41IN| 36.7%|RE 4N 147N | 36.7%|1FER
FE 2A
- . FERMEE 12N -
RRWE. BEARERWE. BE 2= ME T
5%& $§’§Fﬁ§2li§”’§$d)ﬂﬁﬁ% 14A 10 9% %ﬁ;gﬁ*ﬁ{& }i 14* 10.9% {Eﬁ&
) X & 2N
YR, 2R, BREEBERAE. EE 8A
68k |HMER. HEAREXIEISED| 13A| 10.2%|EBEEHEBEE TA[13A | 10.2%| R E#&
75 HinER 1A
BERE 1A
A&t 128 A\
BHRLHBICERAINS—RBREICET SBEDHBHR
X5 BIEONE BB % | Rt B B #AER
1% [HEEE. AH%E
FRER SRR E L E LT S
2% | B 1Al 33.3%|AHBE 1A
REBEZVLELTLABEE
HUDEREX (IRBEDHELT -
M | BHAEA 24| 6674 AR e
HEDORBREVLEL T HHABE 7=
EEORREX IRBEVHELT
MR | DEEEE
SEORBREVELT HHABE
FRRERD
5 IREBEORREVELT LA

%A

3A




ERBSHEE (1)

K5

BHEOAE

BER

FERLLE

BEBAR

1%

ERXBETOBS

2%k

BEOME. BRRICE SR
REREBET > B

3R

55 IS X (44 24 T A0
FRICESERBLERERE
75 W5

2N

100. 0%

ZERAK
E= A

TA
TA

4R

HESEGME. BRICEDE
R EREXFE1T O 2R
RXIAZ R, BRI
HEOESRICRBUTEREBET
3 B

2N

ERBHEMR (2)

K53

BHEOAR

BEH

At

BEHAR

1%

2%k

EHMEEBE1T 5 AR OB
3

ﬁﬁﬁ%ﬁéﬂﬂ?éﬁ%@ﬁ

6A

75. 0%

XEm

6A

RE

FEXITREF OB

2N

25. 0%

=

2N

4R

BER., RARXISREDHS

5k

N LEFENEST HFERX
@%ﬁﬁ%ﬁ%ﬂﬂ?éﬁﬁﬁ
0) v 24

8A




